
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 930

34 km = 3400000 cm

88 dam = 8800 dm

43 hm = 4300000 mm

94 m = 9400 cm

49 dam = 49000 cm

73 dam = 73000 cm

70 km = 700000 dm

31 km = 310000 dm

85 hm = 8500000 mm

97 dam = 97000 cm

9300000 mm = 93 hm

92000000 dm = 9200 km

1200000 mm = 12 hm

700000 cm = 700 dam

80000 m = 8000 dam

47000000 m = 47000 km

25000000 mm = 25 km

27000000 dm = 2700 km

71000000 mm = 71 km

360000 mm = 36 dam

47 km  et 32 cm = 4700032 cm

40 hm  et 26 mm = 4000026 mm

30 m  et 49 mm = 30049 mm

38 km  et 31 cm = 3800031 cm

87 dam  et 52 dm = 8752 dm

1 km  et 47 mm = 1000047 mm

43 m  et 35 dm = 465 dm

9 dam  et 22 cm = 9022 cm

43 km  et 5 cm = 4300005 cm

38 km  et 69 cm = 3800069 cm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :
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